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A boat covers 15km in 2.5 hours in downstream and against stream same distance travel in 3
hrs. Find speed of boat in st|II water?
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A boat goes 100km downstream in 10 hrs and 75 km upstream in 15 hrs. Find the
speed of stream?
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A boat rows downstream covers a distance of 20 km in 2 hrs while it covers the same distance
upstream in 5 hrs. Then speed of the boat in st|II water is :
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A boat goes 40km up stream in 8 hours and 36 km down stream in 6 hours. The
speed of the boat m st|II water is:
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The speed of a boat in still water is 10 km/hr. It covers (upstream) a distance of 45k
in 6 hours, The speed (in km/hr) of the stream is :
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A boat goes 3km against the stream in 20 min and return in 18 min. Find the speed of
stream?
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A boat goes 200km downstream in 20 hrs and 28 km upstream in 4 hrs. Find the time in which

he travel 68km_in still water?
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A boat take 3hrs to cover a certain distance when going with stream and 5 hrs to return to the
starting point. The rate of flow of river is 5Skm/h then find the speed of boat in still water
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A man can swim 9km/h in still water and he takes 3 times as much time to swim upstream as to
swim dowpstream. Fmd the speed of water?
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A boat takes double the time to travel upstream then it takes downstream. If the speed of water
is 3km/h F|nd the speed of boat in stil| water?
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The ratio of speed of a motor-boat to that of the current of water is 36 : 5. The boat
goes along with the current in 5 hours 10 minutes. It WI|| come back in:
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The ratio of speed of a motorboat to that of the current of water is 55:7. The boat goes along
with the current in 6 hours 24 minutes. it will come_ back in:
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A man goes downstream with a boat to some destination and returns upstream to his orlglnal
place in 5 hours. If the speed of the boat in still water and the stream are 10 km/hr and 4km/hr
respectively, the distance of the destination from the starting place is:
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The speed of current is 4km/h. The boat goes 6km and back to the starting point in
2hrs. Find the speed of boat in still water?
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A boat goes 12 km downstream and comes back to the starting point in 3 hours. If the speed of

the current is 3 km/hr, then the speed in km/hr) of e boat in still water is :
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A river flows towards point B to A. One point M, is at distance 3/4t of AB from point A. One boat
takes 12hrs to going from A to B. Boat goes point A to M and return back M to A and takes
10hrs. If the speed of boat_in constant water is 20m/s then find the speed of water?
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